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Section A, B and C are compulsory for all Regular and Private students. Please
follow the instructions, given in each section. Marks distribution for all students
are as shown in question paper. The blind candidates will be given 60 minutes
extra time. )
g A : m‘gﬁm Section A : Objective Regular 5x1=5 / Private 5x1=5
1. D"cos(ax+b) M AM T : D" cos (ax + b) is :
(ala”uus[a_t+b+%n) [h)a"ms[ax+b—%}
(¢) ¢®cos(ax+b + nm) ' ‘(d)acos (ax+b—nn)
0. TF a0+ yd = 3axy THAA R : |
(31) x-3r8t (T) y-ate1 (w) T M F AT (T) y=x F @O |
The curve x° + y° = 3axy is symmetric about :
fa) x-Axis (b) y-Axis (c) Both axes dy=x

n/2 n/2
3. j log (tan x) dx T A 2 : The value ofjo log (tan x) dx is :
0
() 0 (b 1 orn (d) =/2
4 arawa TEECT x%+y=y2 logx T IF % : IFofdiﬂ'erentialequationx%+y=y2 log xis:

(a) x (b) 1/x
ie) 1/xy (d) S ¥ & $E 76 | None of these.
dy . dy el _ady . ..
5. aﬁ:&-;j-EH+y=exaﬁ'PI%.If$—23;+y—e then Pl is :
x et e x—z Cal o
= (b 3 (c) 9 (d) &
WY ¥ : WY IUT Section B : Short Answer Regular 5x2=10 / Private 5x3=15

1 Fraimit 28+ Tal+x— 1 9 (x— 2) 9 & 76T AR | http://www.davvonline.com

Expand using Taylor's theorem 2353+ Txf +x-11in powers of (x - 2).
qEr OR
@y xin onosin”! x) 97 g ffn Ify = sin (m sin~! x) then prove that :

2
2 Ly dy 5
1.. - — Y =
( I]dx? J.dx+.rny 0.

P. T. O



2
2. ﬁiﬁﬂﬁ'ﬁqﬁ?aﬁ?ﬁy=ccosh(xm)%Wﬁg(:.y}ﬂwﬁﬁnyzfc% [

76

Prove that the radius of curvature of catenary y = c cosh (x/c) at any point (x,y) is y2/¢

HAYGT OR
my=3x4+4x3+1%qﬁrwﬁaﬂ=rﬁ=gsrmﬁﬁm |

Find point of inflection of the curve y=3xt 4841

3. fyg FART : Prove that
f"ﬂ Vsin x

0 Vsinx +Vcos x

T
dx—z.

3R OR
I -y = o? & Wy e ww i |

Find the complete area of circle x2 + yi=gq2

4. &« FfST : Solve :

(1+y%dx+(x-tan"ly) dy = 0 Fyar OR (1+4xy + 2% dx + (1 + 4xy + 2xD dy = 0,

5. & FST : Solve

dxz

d? d *
—Lsa’éwy:‘msmsx 9T OR (D? - 2D+ 5) y = e sin x.

TR ® : A I Section C : Long Answer Regular 5x5=25 / Private 5x6=30

1. P o6 &) seiaefiat s AT : Find the asymptotes of the following curve :
y3—5xy+8x2y—4x3—3y2+9xy-69.2+2y—2x+1=(}.
yar OR
feter ww fafg siik firg iR |

State and prove Maclaurin’s Theorem.

2. UM r=a(l-cos0) ¥ e g (r, 0) W awar Brom s Hiftig |

Find radius of curvature of the cardioids r=a (1 - cos 8) at any point (r, 8).

_ Syar OR
% y° (2a - x) =23 F IvEw A |
Trace the curve y% (2a - x) = 23, -
3. aR:If:L,=[ @ - ds, n>0

2
da firg F¥T : then prove that : Inz% L_,.

svaT OR
2 2
_aﬁgﬁ:—fé’—z:lwwmmﬁﬁm

. 2
Find the complete area of ellipse -x;+ .b% =1.

a
4. & AT : Solve :
xdx+ydy+M=0 3var OR PP -4xyp+8y%=0.
x2 + y2 _
5. & A : Solve: http://www.davvonline.com

2
g%-x%—iﬁy:ﬁhgn
3gar OR

Hﬁm%wuﬁm-ﬁwﬁﬁrﬁﬁﬁﬁql
2

Solve the equation :‘szz +y =x by method of variation of parameters.
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